



ustainable Civil Building Management and Engineering Journal Vol: 1, No 4, 2024, Page: 1-11

# **Implementation of Value Engineering in Bandung Islamic University Hospital Building Construction**

Reza Salman Faruq\*, Fajar Sri Handayani, Setiono

Sebelas Maret University

DOI:

https://doi.org/10.47134/scbmej.v1i4.3125 \*Correspondence: Reza Salman Faruq Email: <u>kurohazaed@student.uns.ac.id</u>

Received: 11-10-2024 Accepted: 14-10-2024 Published: 25-10-2024



**Copyright:** © 2024 by the authors. Submitted for open access publication under the terms and conditions of the Creative Commons Attribution (CC BY) license

(http://creativecommons.org/licenses/by/ 4.0/).

**Abstract:** Infrastructure development in Indonesia has increased sharply every year. Construction projects are starting to appear at a fairly high frequency in each region. However, in the process of project development, the quality, time, and cost aspects are not always optimal. Therefore, Value Engineering analysis is needed to get optimal results. This Value Engineering analysis is able to identify components that can be saved and determine alternatives to replace these components without reducing the quality or quality of work. The case study in this research is the Bandung Islamic University Hospital Construction Project. The Value Engineering analysis carried out on this project is a change in the work of the upper structure, such as slab, column and beam from conventional to precast concrete. In addition to Value Engineering analysis, this research also analyzed greenhouse gas emissions using Life Cycle Assessment analysis. The results showed savings of Rp 3,180,685,659.81 or 8.19% of the initial project cost. Meanwhile, the existing greenhouse gas emissions amounted to 9556.01 kgCO2e and for alternative work amounted to 72896.49 kgCO2e.

Keywords: Life Cycle Assessment, Precast Concrete, Value Engineering

#### Introduction

Infrastructure development in Indonesia has increased sharply every year. This is caused by people who need facilities to develop their products and services (Kurniawati et al., 2018). With the development of the times, innovations are increasingly emerging so that the community's need for supporting facilities has become unstoppable. Some of these facilities include hospitals, police stations, houses, and even entertainment venues. Construction projects began to appear at a high frequency in each region in order to maintain the welfare of the community. Especially in big cities such as Bandung, Jakarta, Surabaya, and so on.

Every construction project has important aspects including cost, quality, and time. Those three aspects are the description of a project. However, not all projects have o (Wright & Davidson, 2020)ptimal time, quality, and cost aspects. These problems include inefficient use of materials, unskilled human resources, and inappropriate project implementation times that have the potential to cause waste of construction costs (Gede et al., 2018). Problems in the aspects of cost, quality, and time are caused by poor project management (Priyo et al., 2008). These problems must be addressed immediately at the beginning of the project in order to allow for changes in both materials and human resources. Therefore, a Value Engineering (VE) analysis is required (Chandrupatla & Belegundu, 2021).

Value Engineering is an organized effort to analyze a problem that aims to achieve the desired functions at total cost and optimal results (Dell'Isola, 1975). This VE analysis is able to identify components that can be saved and determine alternatives to replace these components without reducing the quality or quality of work. The application of VE analysis is expected to obtain alternatives to solve problems that will be used by project stakeholders so as to reduce the cost of building the UNISBA Hospital building(Rice et al., 2023).

# Methodology

This research takes a case study on the UNISBA Hospital Building construction project. The project is located at Jalan Raya Nagreg, Citaman Village, Nagreg District, Bandung Regency. This project is a self-managed project of the Bandung Islamic University Hospital Foundation with a contract value of Rp. 82,660,691,334.28.



Figure 1.1 Location of UNISBA Hospital Building Construction

Value Engineering Analysis used in this research are divided by five main stages, according to (SAVE, 2007), there are(Goswami, 2022):

- 1. Information stage, is the first step of the Value Engineering Analysis which purpose is to collect all necessary data and information needed for this research. In this stage, cost breakdown structure and pareto distribution law are used to find the component that to be analyzed using Value Engineering.
- 2. Function analysis stage, is a stage to find the basic function of each component. This stage is the most important of the Value Engineering Analysis.
- 3. Creative stage, is a stage which purpose is to find the alternatives of the existing component. This alternative must be more efficient and didn't reduce the value of the existing component.
- 4. Analysis stage, is a stage to analyze the available alternatives and eliminate them to find the most efficient alternative.
- 5. Presentation stage, is a stage to report the result of the analysis to the stakeholders.

Life Cycle Assessment (LCA) is used to determine the greenhouse gas (GHG) emissions resulting from concrete work. GHGs can take the form of Carbon Dioxide (CO2), Methane (CH4), and other gases. To calculate GHG emissions, it can be done by multiplying the emission factor of each material. However, the GHG emission analysis used in this study is the concrete work in the field using heavy equipment(Kamphuis, 2020). This is because in

this study only changes the method of concrete work in the field and does not change the composition of the concrete used. The tools used in the existing work are concrete pump, mixer truck, and vibrator. While the tools used in alternative work are vibrators, mixer trucks, and roller cranes in erection work(Rao, 2019).

# **Result and Discussion**

# **Information Stage**

The construction of the UNISBA Hospital Building has a land area of  $\pm$  4020 m2 and a building area of  $\pm$  19392 m2. The project has a contract value of Rp. 82,660,691,334.28 with a building height of  $\pm$  34.25m. The first step in this analysis is to perform a Pareto Distribution Law analysis on the work components (Gibson, 2019).

Table 1: Pareto Distribution Law Analysis Results				
No	Type of Work	Cost (Rp)	Cost Percentage (%)	Cumulative Percentage (%)
1	Structural work	41.556.848.998,57	44.20	44.20
2	Architectural work	35.100.756.762.29	37.34	81.54
3	Electrical work	8.850.551.283,67	9.41	90.96
4	Plumbing work	7.869.739.426,90	8.37	99.33
5	Preparatory work	632.518.420,00	0.67	100
	Total	94.010.414.891,43		



Figure 1. Graph and Diagram of Pareto Distribution Law

Based on Pareto's Law analysis, the work components to be analyzed are plates, columns, and beams because they are the structural work components with the highest costs(Mitcham, 2022).

## **Function Analysis Stage**

This stage serves to find out the basic functions of each work component to be analyzed. The method used at this stage is the FAST diagram (Function Analysis System Diagram). FAST diagrams are used to find out functions in more detail, both primary and secondary functions(Sinnott & Towler, 2019).

## **Creative Stage**

At this stage, alternative ideas were developed to replace existing work components with new components that were more cost-effective without reducing the quality of the existing work. The chosen alternative was to replace conventional concrete work with precast concrete for column beam and slab work(Bolz, 2019).

## **Analysis Stage**

The Analysis stage is a stage carried out with the aim of evaluating each alternative obtained from the previous stage. The analysis is carried out in the hope of knowing whether the alternative work is feasible to be applied as a replacement for existing components or not. The analysis stage in this research is based on SNI 7832-2017, Unit Price Analysis of On-site Precast Concrete Work for Building Construction. The SNI contains unit price of work for on-site precast concrete work. SNI 7832-2017 is a revision of SNI 7832-2012 where in SNI 7832-2017, the erection work can reach 24 floors while SNI 7832-2012 is only up to five floors. Below are tables recapitulating the unit prices of the existing work of plates, columns, and beams(Breneman et al., 2022).

	Table 2: Recapitulation of Unit Price of Existing Slab Work				
No	Type of Work	Volume	Unit	Unit Price (Rp)	Total Price (Rp)
1	Concrete grade K - 350	3100.358	m <sup>3</sup>	1,162,200.00	3,603,236,067.60
2	BJTS-40 Reinforcement	324206	kg	16,853.00	5,463,857,063.76
3	Formwork for floor slab	20586	m²	366,300.00	7,540,811,653.32
				Total	16,607,904,784.68
Table 3: Recapitulation of Unit Price of Existing Column Work					
	Table 3: Recapitulati	on of Unit P	rice of 1	Existing Colum	n Work
No	Table 3: Recapitulati <b>Type of Work</b>	on of Unit F <b>Volume</b>	Price of Durit	Existing Colum Unit Price (Rp)	n Work Total Price (Rp)
<b>No</b>	Table 3: Recapitulati <b>Type of Work</b> Concrete grade K - 425	on of Unit F Volume 1521.76	Price of Dunit	Existing Colum Unit Price (Rp) 1,162,200.00	n Work <b>Total Price (Rp)</b> 3,603,236,067.60
<b>No</b> 1 2	Table 3: Recapitulati <b>Type of Work</b> Concrete grade K - 425 BJTS-40 Reinforcement	<u>on of Unit F</u> Volume 1521.76 329879	Price of D Unit m <sup>3</sup> kg	Existing Colum Unit Price (Rp) 1,162,200.00 16,853.00	n Work Total Price (Rp) 3,603,236,067.60 5,463,857,063.76
<b>No</b> 1 2 3	Table 3: RecapitulatiType of WorkConcrete grade K - 425BJTS-40 ReinforcementFormwork for floor slab	on of Unit F Volume 1521.76 329879 7808.8	Price of Dunit Unit m <sup>3</sup> kg m <sup>2</sup>	Existing Colum Unit Price (Rp) 1,162,200.00 16,853.00 366,300.00	n Work Total Price (Rp) 3,603,236,067.60 5,463,857,063.76 7,540,811,653.32
<b>No</b> 1 2 3	Table 3: Recapitulati <b>Type of Work</b> Concrete grade K - 425 BJTS-40 Reinforcement Formwork for floor slab	on of Unit F Volume 1521.76 329879 7808.8	Price of Dunit Unit m <sup>3</sup> kg m <sup>2</sup>	Existing Colum Unit Price (Rp) 1,162,200.00 16,853.00 366,300.00 Total	n Work Total Price (Rp) 3,603,236,067.60 5,463,857,063.76 7,540,811,653.32 9,977,172,811.86

Table 4: Recapitulation of Unit Price of Existing Beam Work					
No	Type of Work	Volume	Unit	Unit Price (Rp)	Total Price (Rp)

1	Concrete grade K - 350	2135	m <sup>3</sup>	1,162,200.00	3,603,236,067.60
2	BJTS-40 Reinforcement	343889	kg	16,853.00	5,463,857,063.76
3	Formwork for floor slab	12395	m²	366,300.00	7,540,811,653.32
				Total	12,272,234,072.72

After obtaining the unit price of the existing work of plates, columns, and beams, the next step is to make alternative work unit prices of the three work components. The making of this alternative unit price is guided by SNI-7832 2017(Cross, 2021).

No	Type of Work	Volume	Unit	Unit Price (Rp)	Total Price (Rp)
1	Concrete grade K - 350	3100	m3	2,125,500.00	6,589,810,929.00
2	Wage for pouring/ spreading concrete	3100	Pcs	77,000.00	238,727,566.00
3	Reinforcement bar	324206	kg	16,800.00	5,446,674,103.79
4	Making formwork	4117.	m2	476,600.00	1,962,299,117.65
5	Uninstall formwork	780	Pcs	9,200.00	7,176,000.00
6	Erection	780	Pcs	388,800.00	303,264,000.00
				Total	14,547,951,716.44

Table 5: Recapitulation of Unit Price of Alternative Slab Work

Table 6: Recapitulation of Unit Price of Alternative Column Work					
No	Type of Work	Volume	Unit	Unit Price (Rp)	Total Price (Rp)
1	Concrete grade K - 350	1521.76	m3	2,125,500.00	3,234,500,880.00
2	Wage for pouring/ spreading concrete	1521.76	m3	71,400.00	108,653,664.00
3	Reinforcement bar	329879	kg	16,800.00	5,541,981,643.30
4	Making formwork	780	m2	72,800.00	56,848,064.00
5	Uninstall formwork	506	Pcs	12,000.00	6,072,000.00
6	Erection	506	Pcs	466,600.00	236,099,600.00
7	Joint	506	Pcs	130,048.60	65,804,591.60
				Total	9,249,960,442.90

	Table 7: Recapitulation of Unit Price of Alternative Beam Work				
No	Type of Work	Volume	Unit	Unit Price (Rp)	Total Price (Rp)
1	Concrete grade K - 350	2135.166	m3	2,125,500.00	4,538,295,333.00

2	Wage for pouring/ spreading concrete	2135.166	m3	79,100.00	168,891,630.60
3	Reinforcement bar	344210	kg	16,800.00	5,782,728,000.00
4	Making formwork	12395.83	m2	59,100.00	732,593,553.00
5	Uninstall formwork	1055	Pcs	14,800.00	15,614,000.00
6	Erection	1055	Pcs	361,400.00	381,277,000.00
7	Joint	1055	m3	250,900.79	264,700,333.45
				Total	11,884,099,850.05

After obtained the calculation results of existing and alternative work, the next step is to create a cost/worth table. The cost column is filled with the cost of the existing work, while the worth column is filled with the cost of the alternative work(Pan & Zhang, 2021).

Table 8: Recapitulation of Unit Price of Alternative Beam Work					
NT	Type of	Function		Cost	Worth
NO	Work	Verb	Noun	Rp	Rp
1	Slab	Receive	Load	16,607,904,784	14,547,951,716
2	Column	Forward	Load	9,977,172,811	9,249,960,442
3	Beam	Forward	Load	12,272,234,072	11,884,099,850
				Ratio Cost/Worth	1.09

Based on the cost/worth ratio that has been obtained, it can be seen that the alternative is feasible because the cost/worth value is more than 1.

#### **Greenhouse Gas Emission Analysis**

The analysis of greenhouse gas (GHG) emissions used in this study is the emissions released in concrete work in the field using heavy equipment. This analysis requires tool usage time and emission factor. Usage time used in this research is based on survey. Meanwhile emission factor is gained from EcoInvent 3.3 (2014)(Ramos et al., 2020).

#### Table 9: Recapitulation of Usage Time of Each Equipment

No	Type of Equipment	Usage Time (Hr)
1	Concrete pump	140,78
2	Vibrator	140,78
3	Crawler crane	390,25
4	Mixer truck	140,78

Table 10: Reca	pitulation of	GHG Produced	per 1 Hour
Tuble 10. Recu	prictation of	Ono mouteu	per i noui

No	Type of Equipment	GHG Produced	
1	Concrete pump	64,948	

	2 Vibrate	Vibrator				
	3 Crawler of	Crawler crane				
	4 Mixer tr	Mixer truck				
Table 11: Recapitulation of GHG Produced in Existing Work						
No		Usage Times	Emission	Emission		
	Type of Equipment		Factor	Produced		
		Time	(kgCO2e/hr)	(kgCO <sub>2e</sub> )		
1	Concrete pump	140,78	64,948	9143,38		
2	Vibrator	140,78	2,931	412,63		
3	Mixer truck	140,78	16,003	2252,902		
			Total	11808,908		
Table 12: Recapitulation of GHG Produced in Alternative Work						
		Usage	Emission	Emission		

No	Type of Equipment	Usage Time	Emission Factor (kgCO2e/hr)	Emission Produced (kgCO <sub>2e</sub> )
1	Vibrator	140,78	2,931	412,63
2	Crawler crane	390,25	185,737	72483,86
3	Mixer truck	140,78	16,003	2252,902
			Total	75149,393

## **Presentation Stage**

The presentation phase of the conducted VE study is described as follows: 1. Existing condition

The cost of existing column work is Rp 9,977,172,811.86; existing beam work is Rp 12,272,234,072.72; and for existing slab work is Rp 16,607,904,784.68.

2. Alternative condition

Based on the analysis that has been carried out, namely VE and LCA analysis, the recommended alternative design is to change conventional concrete work to precast concrete for slab, column, and beam work. The alternative can save costs of Rp 3,180,685,659.81 or about 8.19% of the existing costs(Punmiya & Choe, 2019).

No	Type of Work	Existing (Rp)	Alternative (Rp)
1	Slab	16,607,904,784.68	14,547,951,716.44
2	Column	9,977,172,811.86	9,249,960,442.90
3	Beam	12,272,234,072.72	11,878,713,850.12
		Savings	3,180,685,659.81
		% Savings	8.19%

Table 15. Recapitulation of Cost Savings
--

Table 14: Recapitulation of GHG Emissions				
	Existing	Alternative	Difference	
	(kgCO <sub>2e</sub> )	(kgCO <sub>2e</sub> )	(kgCO2e)	
Emission	9556,01	72896,49	63340,48	

## Conclusion

Based on the results of research and data analysis that has been carried out on the Bandung Islamic University Hospital Building Construction Project (UNISBA), the following conclusions can be drawn:

- 1. Based on the available data, a pareto analysis is carried out so that the work components that will be analyzed using the Value Engineering method are plate, column, and beam work.
- 2. After the value engineering analysis, we obtained project cost savings for structural work of Rp 3,180,685,659.81 or 8.19% of the initial project cost. This savings can be obtained from the difference in formwork costs required between existing and alternative work. In the existing work, formwork is only used twice. Whereas in the alternative work, formwork is used ten to twelve times. So the cost required in alternative work is less.
- 3. In the LCA analysis, the focused work is only concrete work in the field that pays more attention to the heavy equipment used. After the analysis, the amount of greenhouse gas emissions for the existing work was 9556.01 kgCO2e while the amount of greenhouse gas emissions for alternative work was 72896.49 kgCO2e. From these results, it can be seen that greenhouse gas emissions released from alternative work are greater. This is because in the alternative work there is a lot of erection work where the use of tower cranes is the highest source of greenhouse gas emissions.

#### References

- Adiasa, A. M., Prakosa, D. K., Hatmoko, J. U. D., & Santoso, T. D. (2014). Evaluasi penggunaan beton precast di proyek konstruksi. Jurnal Karya Teknik Sipil, 3(4), 126– 134. http://ejournal-s1.undip.ac.id/index.php/jkts
- Almansour, M., & Krarti, M. (2022). Value engineering optimal design approach of highperformance residential buildings: Case study of Kuwait. Energy and Buildings, 258, 111833. https://doi.org/10.1016/j.enbuild.2022.111833

- Bolz, R. E. (2019). CRC handbook of tables for applied engineering science. taylorfrancis.com. https://doi.org/10.1201/9781315214092
- Breneman, J. E., Sahay, C., & Lewis, E. E. (2022). Introduction to reliability engineering. books.google.com. https://books.google.com/books?hl=en&lr=&id=3GNoEAAAQBAJ&oi=fnd&pg=PA1 5&dq=value+engineering&ots=shegonRsTN&sig=6Aau07KDvKHT\_4d9kpr5rO3dl9 M
- Chandrupatla, T., & Belegundu, A. (2021). Introduction to finite elements in engineering. Cambridge University Press.
- Cross, N. (2021). Engineering design methods: strategies for product design. books.google.com. https://books.google.com/books?hl=en&lr=&id=OcSEAAAQBAJ&oi=fnd&pg=PR9&dq=value+engineering&ots=fVK7h98uGA&sig=A brSlzFPKAAfUiz56\_HywaBeHi8
- Gede, I., Diputera, A., Agung, G., Putera, A., Putu, G. A., & Dharmayanti, C. (2018). PENERAPAN VALUE ENGINEERING (VE) PADA PROYEK PEMBANGUNAN TAMAN SARI APARTEMENT. In Jurnal Spektran (Vol. 6, Issue 2). http://ojs.unud.ac.id/index.php/jsn/index
- Gede, I., Diputera, A., Agung, G., Putera, A., Putu, G. A., & Dharmayanti, C. (2018). Penerapan value engineering (VE) pada proyek pembangunan Taman Sari apartemen. Jurnal Spektran, 6(2). http://ojs.unud.ac.id/index.php/jsn/index
- Gibson, D. (2019). The art of mixing: a visual guide to recording, engineering, and production. taylorfrancis.com. https://doi.org/10.4324/9781351252225
- Goswami, D. Y. (2022). Principles of solar engineering. taylorfrancis.com. https://doi.org/10.1201/9781003244387
- Irfanto, R., W, I. S. N., & Dermawan, H. (2023). Penerapan konsep value engineering pada proyek bangunan gedung sekolah. Jurnal Teknik Sipil, 19(1), 98–111. https://doi.org/10.28932/jts.v19i1.5254
- Jatnika, J. (2020). Proyeksi kebutuhan lahan pemakaman di Kota Bandung tahun 2018-2038. Jumlah penduduk hasil proyeksi interim menurut jenis kelamin di Kota Bandung (jiwa), 2021-2023. Badan Pusat Statistik Kota Bandung.
- Kamphuis, J. W. (2020). Introduction to coastal engineering and management. books.google.com. https://books.google.com/books?hl=en&lr=&id=2XfpDwAAQBAJ&oi=fnd&pg=PR7 &dq=value+engineering&ots=I08tmxyqR3&sig=8apS4\_1cEAaW7B6voRNU-v66p4o
- Kristo Ngantung, R., Manoppo, F. J., E. Kandou, C. D., Teknik Prospero Karya Manado, S. C., Prodi Teknik Sipil, P., & Sam Ratulangi Manado. (2021). Penerapan value engineering dalam upaya meningkatkan efisiensi biaya proyek pada pembangunan gedung DPRD Sulawesi Utara. Jurnal Ilmiah Media Engineering, 11(1).
- Kurniawati, S., & Asyurrahman. (2018). Pembangunan Infrastruktur dan Pertumbuhan Ekonomi di Provinsi Kalimantan Barat.
- Kurniawati, S., & Asyurrahman. (2018). Pembangunan infrastruktur dan pertumbuhan ekonomi di Provinsi Kalimantan Barat.

- Liang, Q., Liang, H., Li, Q., Tam, V. W. Y., Yu, J., & Zhu, L. (2023). Function matters: Development of a value engineering building–function–assessment framework from stakeholders' perspectives using hybrid analytical methods. Journal of Building Engineering, 68, 106025. https://doi.org/10.1016/j.jobe.2023.106025
- Mitcham, C. (2022). Thinking through technology: The path between engineering and philosophy. books.google.com. https://books.google.com/books?hl=en&lr=&id=0uF-EAAAQBAJ&oi=fnd&pg=PR5&dq=value+engineering&ots=Md82DiQuFk&sig=JDb by39mH9v8UGTFyilMZFNu-L4
- Natalie, J. Y., Kaming, P. F., & Koesmargono, A. (2020). Penerapan rekayasa nilai (value engineering) pada bangunan rumah susun sederhana (Studi kasus: Rusunawa Jongke Sleman). Jurnal Teknik Sipil, 15(4), 263–268.
- Pan, Y., & Zhang, L. (2021). Roles of artificial intelligence in construction engineering and management: A critical review and future trends. Automation in Construction. https://www.sciencedirect.com/science/article/pii/S0926580520310979
- Pratama, R. R., & Tresna Wiwitan. (2023). Pola komunikasi dalam pelayanan publik di Kota Bandung. Bandung Conference Series: Public Relations, 3(2), 878–883. https://doi.org/10.29313/bcspr.v3i2.9364
- Priyo, M., & Wibowo, N. A. (2008). Konsep Earned Value dalam Aplikasi Pengelolaan Proyek Konstruksi (Earned Value Concept for Application on Construction Project Management). Jurnal Ilmiah Semesta Teknika, 11(2), 153–161.
- Priyo, M., & Wibowo, N. A. (2008). Konsep earned value dalam aplikasi pengelolaan proyek konstruksi (Earned value concept for application on construction project management). Jurnal Ilmiah Semesta Teknika, 11(2), 153–161.
- Punmiya, R., & Choe, S. (2019). Energy theft detection using gradient boosting theft detector with feature engineering-based preprocessing. IEEE Transactions on Smart Grid. https://ieeexplore.ieee.org/abstract/document/8610248/
- Ramos, A. L., Domingo, J., & ... (2020). Analysis of Weiner filter approximation value based on performance of metrics of image restoration. ... and Computer Engineering .... https://ieeexplore.ieee.org/abstract/document/9179179/
- Rao, S. S. (2019). Engineering optimization: theory and practice. books.google.com. https://books.google.com/books?hl=en&lr=&id=oG21DwAAQBAJ&oi=fnd&pg=PP1 7&dq=value+engineering&ots=wqhII8zXVK&sig=2Io5xfULMFiMGq5AvgyrrdiH3K o
- Rice, R. G., Do, D. D., & Maneval, J. E. (2023). Applied mathematics and modeling for chemical engineers. books.google.com. https://books.google.com/books?hl=en&lr=&id=4i6wEAAAQBAJ&oi=fnd&pg=PA1 &dq=value+engineering&ots=1T1Pm-\_gaf&sig=1prwsRlP2qdt5nzdIiu235li4s0
- Sinnott, R., & Towler, G. (2019). Chemical engineering design: SI Edition. books.google.com. https://books.google.com/books?hl=en&lr=&id=SjmaDwAAQBAJ&oi=fnd&pg=PP1 &dq=value+engineering&ots=U\_uQc4YOuA&sig=6jq6jOqlIUl7Q\_SIgk-RRpLUnuA

- Wright, L., & Davidson, S. (2020). How to tell the difference between a model and a digital twin. Advanced Modeling and Simulation in Engineering .... https://doi.org/10.1186/s40323-020-00147-4
- Youssef, M., AlDeep, S. M. H., & Olwan, M. M. (2023). Value engineering: Case study of Libyan educational buildings. Alexandria Engineering Journal, 76, 735–746. https://doi.org/10.1016/j.aej.2023.06.078